C:# Addition Using Open Number Lines

Name:
Solve each problem. Answers
1) 47,053+ 2,230=
1.
< o > )
2) 47,569 + 37,492 = 3.
4.
< o >
5.
3) 46,935 + 8,686 =
6.
¢ ¢ > 7.
4) 50,063 + 23,113 = 8,
< o >
5) 33,612 + 25,796 =
< o >
6) 40,674 + 19,380 =
< L >
7) 25476 + 2,247 =
< o >
8) 31,011+ 15,804 =
< L >
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ﬂh Addition Using Open Number Lines Name: Answer Key
Solve each problem. Answers

1) 47,053+ 2,230=

1. 49,283

47,053 49,053 49,253 49,283
< .\/.\_/.\_/. > ” 85,061

+2,000 +200 +30
2) 47,569 + 37,492 = 3. 09,621
47569 77569 84569 84,969 85059 85,061 4, 73,176
+30,000 +7,000 +400 +90 +2 5, 59,408
3) 46,935 + 8,686 =

6. 60,054

46,935 54,935 55,535 55,615 55,621

+8,000 +600 +80 +6
4) 50,063 + 23,113 = g. 46,815

50,063 70,063 73,063 73,163 /3,1/3 73,176
+20,000 +3,000 +100 +10 +3

5) 33,612 + 25,796 =

33,612 53,612 58,612 59,312 59,402 59,408
+20,000 +5,000 +700 +90 +6

6) 40,674 + 19,380 =

40,674 50,674 59,674 59,974 60,054
«——e— e o o 0o
+10,000 +9,000 +300 +80

7) 25,476 + 2,247 =

25,476 27,476 27,676 27,716 27,7123
«——e— 9o o o o >

+2,000 +200 +40 +7
8) 31,011 + 15,804 =

31,011 41,011 46,011 46,811 46,815
“——e— e @ o 0o

+10,000 +5,000 +800 +4
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